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Note : Hefore answering the questions, read carefully the instruct

oy given o the

frn eriAdr S6208

I I 7 divides a* then

a2a7ammﬁ

(1) x>0, y>0,a=1

(3) a>0,y>0.x=1

3 §=
(1 7% @) 7%’

(1) 7 divides *a*  (2) 7 divides Ja

SECTION = [ : MATHEMATICS (Adé8 arZ9iw)

(3) a divides 7 (4) None

(1) 0" & Terhwod (2) Yo & Tenon(3d) 7 wawnges (1) brd

2 In the formula log, xy=log, x+ log,, v, which of the following is true ?

log, xy =log, x+ log,, y eand, & 3od T 86" Do g,
(2) x<0,y<Da=1

(4) x>0, y>0,azl

(3) 7'“‘75 (4) None (28 &)
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If @.B are the roots of x° =1=0. then w+fi=

- ‘ .

|‘\g‘:‘l\\s‘:.o’.\f,‘: . 'l\'g‘: - S LU

0"“ 0. ”

. \ o n(.u 0”

> 9 s O s 9 . o » gand \ =
'!\ L nd I\‘) ' - ¢ ‘\‘) * . . ‘\'h N - N . -
»

3
(1) n (o) 1 (s (4) =

'\‘s 2 -“ - ‘I‘S 2 “ = L‘$ & - l\‘s \ .‘“ ce il =

(n & () A (M e (1) None (D8 weau)

4={P.O.LY.T.E.C.H.N.1.Q), B={P.O.LY.C.E.T,2020}, B-A=

(1) {20} (2) {:020} (3) {40} (4) None (98 vew)

{
a}, B={a.b}.C={a.b.c} wond ANBAC=
} (2) {#} 3) {c} (4) None (D4 sc)

Product of the polynomials (x3-q-8).(x-8) is denoted by
pla)=ar* <t +x” < dr+e then p(8)=

(+7+8).(x-¥) o2 eotn ot p(x)=act +b0+ ¥+ dive waws p(8)=

(1) 0 (2) 1 (3) 2 (4) 3

@ f e x:-l=0 &U&W u+fi=
(o (2) | (3) -1 (4 2
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) ] - e Yiage " =
For the equation 2019x+ 2020y = 4040 when r=0 the value of

-
-

0191 + 20203 = 4040 8B tridoiuid r=() el VoS

‘Y 3 $) 2
(1) 2020 (2) 2019 (3) 4 i

Y — I ML ! |}
Solution of the equations 7x+ 35y = 12.8¢v=Tr==2 18 nt cqual

‘ A tA Al T
7x+Sy=125r-Ty=-2 S gdae do8 & ko ot B4

It 15

-22 |4 3344 -77 13 oy W8S
BT T C)13 16718
27 ST AL
e -
PR S I (r.t)..

019 2020 2019 "0"0

- ~ - :”
(1) (2019, 2020)  (2) (2020, 2019) (3)-(21)]0, 019)  (4) (2020, 2020
- » - - '

- -

If (5.2) is the solution of 2x+3y= 20, ax— b\ =0, then (a.b)=

—by=0 o223 (3 5,2) wows (a.b)=
(3) (-2.5) (4 (-5.2)

2r+5y=20, ax-

.
(ny (5 2) (82

I ax + v =2 has unique solution then

If the system of equations ¥—V=

= s sac:-c:r-r=l.ar+_v=loza:§_s-.-cé._aoé
= .azl (4) az-l
- (2) a=-1 3)-
(1) a=1 -

—

vx-\—ﬂlhﬂ'll"

g+ V=

Te :J,’;,t—)'zﬂ poLs T =

=5 -4

(4) —

2 GV = ;
TR o) - 2 2

' < ma oA lemcpocedd Il
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16 I the roots of 2= + kv +3=0 are real and equal then &=
- <t b4 :.t}.‘:-%
2 + kv 4 3=0 Qo) Lirerey TiTen Sbow ST wonaS A SnsSk

+35

() 1642 (2) =4 (3) :waf: 4) =

17 s\‘:—h\-‘): ...........

() (2e-3)(x=3) (@) (2r=3)(x+1) 3) (2x+N)(x=1)  (2r=3)Erv=3)

18 Roots of 8x- -y =4 are :

Sys —Ry=4 AE) Surerew

=) R - | )
2 — - 2.- (4) 2.7
(Nid= (2) l.S (3) 2.3 '
19 Product of the roots of Y312 =2x=J3=0is
J-.':.\:—Zx—\ﬁ:ll S Lrero oo
2 2
th 1 (2) =1 a7
(3) N (4) B
-1 1 5
20 IT: ........ are in GP. then find 8" term,
-1 1
l.T : ......... &n[‘&é‘doa. R 8addw ;
| | =1 -
() 2) — —_ sa
128 ) 64 (3) 128 (4) 64

21 4 7, 0. ... are in AP, then sum of 15 1erms is
C S 5 | | Eo— AP & a3, |5 sorowdo ...
(1) 385 (2) 475 (3) 375

(4) 325
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24

10" 1erm of AP : 13, B, 3, =2, s 18 ssssivsses

13. 8. 3. =2, e AP & 10 3360 cverenee
(1) —32 (2) - 23 (3) 30 (4) =30
Which term of the GP. : ¥3,3,3V3,....... : is 729 ?

V3,338, o {86 729 H)d d80?

(1) 10 (2) 12 (3) 14 (4) 16
If the slope of the line through (2, =7) and (x, 5) is 3 then X= coeeeenes
(2. =7, (x. 5) © fhoar S B Tren 3, Lavd X E8Y DS wovveree

(1) 4 (2) § (3) 6 (4) 7

If (8,1),(%,—4).(2,-35) are collincar, then £ =.couunn
(8,1),(k,~4),(2.-5) en SBharrds, k @wsE) devs.....

The point (2.—3) divides the line segment joining the points (—1,3),(4,—=7) in the
(=1.3).(4.=7) Docvipes* Dsyd Bar moard) (2.—3) Doy Dot L
(1) 3:2 2)2:3 (3) 8:1 4) 1:4

The centroid of the triangle whose vertices are (3.-5).(-7.4),(10, -2) is

(3.-5).(-7.4),(10,-2) e i fo (Brbeo Glug, rddgdoldo

.........

(1) (11) 2) (1.-2) (3) (-2.1) 4 (2.-1)
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30

3l

The ratio
Or lhc cuncs NP ” vt . N .~ g
thicir laricas ponding sides of two similar tnangles is 5 7 3 then the ratio of

Boau &
P2 Bt udrd were B3 § 1 3 waud Presge X8

| N
(h5:3 2)3:s (3) 6: 10 (4) 25:9
From the figure y=
S0 o8 x= X |
b
(1) 10 (2) 15 (3) 12 (4) 25
AABC~Axyz; £C=60%28=175 then LZ=
AABC-Ax_\':;£C=6d;:£B=75° wowd L7 =
(1) 90° (2) 75° (3) 45° (4) 60°
AABC-—APQR then y+:z=
AABC~APQR wond v4z=
0 ol
6 i
3 = :
: R
P > ~4 45 €
N
(1) 4443 (2) 34443 (3) 4+343 ()-4-13
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34

35

In AABC: BC+ AB*=AC? then is the right angle, ,

AdnC & BC2+AB = A C* wond Y] oot oo dodd,

(N xn (2) 4 \

(3) C (4) Can't say (33830)

AB=BC=‘4C=k then k value
PO QR PR

AABC~APQR;

AB=8C=AC=k wous k Ded
PO QR PR

AABC~APQR;

(N k=1 (2) k>1 (3) k<0 (4) k=0

A line which intersccts the given circle at two distincl points is called

(1) tangent (2) secant (3) radius (4) circle

$)a9) Bod $diid Bochpe 33 wolod Avie ddotrd

(1) 36; 3w (2) erg (3) oprgiw (4) 3w

Angle in a major segmenl is

(1) an obtuse angle (2) an acute angle

(3) right angle (4) None
w04 38 podod'd Pmiy

(1) ©od Soin (2) wojEoin
(3) vows'miv (4) 2B 5
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39

In the figure y=
Dot od X=_

(1) 60° (2) 100° '. (3) 1o° (4) 120°

The circumference of a circle is 100 ¢m, then the side of a square inscribed in the
circle is

828200 100 20.h. wavs w)dod' wosshod 1a3 S&OE o

1 sJ‘ 50 50
(M — (2) == (3) — f & T

In the figure, ZACS.........
200 o8 LACEB deus

9%

A B
(1) 60° (2) 90° S (3) 300 (4) 1100

Angle between the tangent and radius drawn through the point of contact js
)8 8)6) Bocby 3g8 Tgros, a_)cﬁos’ Dgro Boay
(1) 30° (2) 45° (3) 60° (4) 900

SPACE FOR ROUGH WORK / 2 8 Beranoseds smi
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Which of the following formula is nssocinted to cylinder ?
808 Arprod® arddA Howodods Ardin

I 5 2
(n 3'7"' h (D) nreh (3) Enrj (4) -;-nr3

To find out the slant height of a cone, We usc theorem.

(1) Thales (2) S.AS. (3) Pythagorus (4) S.S.S.
oY derren I gAY LS horodin ASSLr A A,
(1) 3 (2) w.8eb. (3) Darddd (4) grabob.

Ratio of volume of cylinder and cone whose radii are equal and having same heights.

ed gdrgo, ddben €03 riin, Jomwpo DI Bireive X3

(1 1:3 (2) 132 (1)3 l ) 2:1

The radius of the sphere is increased by 100%, the volume of the resulting sphere is

increased by

o8 Aoan Ao grdin |
(1) 200% (2) 700% (3) 500%

00% Dods DdyB Aein @y i H0Armi Jod .

(4) 900%

If acos®+bsin@=p. asin@—bcosd =g then
acos0+ bsind = p. asin®—bcosB = g wawd
(1) a+b2=p*+q’ “@) a*+b?=p*-¢*

(3) a2-b*=p*+q°

| radian =

(1) 56°18 ~(3) 56°15 (4) 45040

(2) 57°16

pPOLYCET-2020—A ]
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49

50

Il A=45°, B=60° then sin A+cosB=
A=45° Hoaty B=60° wous sinA+cosB=7

2-V2 2+42 2+42 2+
0 = a3 9 =3 2 ®) 2%

>

If 4,B.C,D are angles of a cyclic quadrilateral, then sin A +sin B=sinC=sinD ="
A, B,C,D rg Sy S ' s sin A +sin B-sinC-sinD="7
(1 -1 () 0 3) 1 (4) 2

If A=§ then (l+mnA) (l+tan2 A)(|+mn3 A):

A=§ waud (1+1an A) (I+lan2 A)(1+tan3 A):

(1) 6 (2) 4 (3) 8 (4) 2
cos 2019 ¢os 202 cos5203°............. cos 300° =

cos 201° co0s202° cos 203°............. c0s 300° Dewid dod ?

o ) 3N N

If the angle of elevation of the Sun is 60°, then the ratio of a tree with its shadow is

(1) 1:1 (2) 1:\3 (3) ¥3:1 (4) None of these
08 Bty Arded 3 So &8es'mo 60° vavd u By oak oD e Pdye M3 :
(1) 11 Q) 113 (3) V3:1 (4) 58 s

SPACE FOR ROUGH WORK / 24 &08 ‘éerwodn&é‘gu&»
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From the top of the tower 60 mis high the angle of depression of two objects due north
and due south of the tower are 60° and 45° then the distance between two objects is

60 . Jrv e8 &6 D e Lol A E'eob’ add, 6ie adyudt 63) Tod Supod
600 oot 45° o8 Srds, u Shpo g drdo 8?7

(1) 6043 m (2) (60+2043)m (3) 6o(-1)m @) 60(3 +1)m

What is the probability of getting an even number m a single throw of a die ?

08 3 D8L BBoDAP dopg oPorbil e Hoerdpd : N

| | ] 5
M 3 () 3 g * 3

.o

A number chosen from 1 to 100. Find the probabilix)" that it is a prime number .........

| #od 100 :‘boosad' n8 domg afrdydysom Jo-iiiaal. o dopg (G Sowg wsA0A

0P S reiree B
| ] | | \f
(1) 5 2) -3 3) 3 (4) =3 (..

arc rolled simultaneously then the probability that the numbers on them are

.-

If two dice
difterent is o)
S0 SDée LD B0l T8 v gt m§gm oo Horigd

3'.!.*—" 4_?_.
®) 3 @ 3

Lo | —

3
(1) r3 (2)

A bag contains 6 red balls, 12 green balls and 8 black balls. Find the probability that

the ball drawn is either a black or a red ball.
uHdS) vodiew Loam S-d::w@ poden AT ou. © 2000l

o8 $006° 6 Moy woden, 12 .
o Kody o 208 e doprigd EuHod.

atrcyDysor &S 203D BiS 60 BAY
13 1 1.c 1
(0 7 2 33 G 33 . 4 3

SPACE FOR ROUGIH WORK / 2& 208 daravoduda Dol
“
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56 The mean of 17. 4. 8. 6 and 15 is m, the median of & 14. 10, 5.
is (m-1). Then the values of m and n are
(2) m=10, n=9

57

58

59

60

(1) m=9, n=10

17, 4, 8, 6 oot 15 o ey m,
(m—=1) eond m, n denden

(1) m=9,n=10

(2) m=10,n=9

8.

(3) m=5n=9
14. 10. 5, 7, 5. 20, 19 oo n o DEgrdo

(3) m=5n=9

Find the mode when median is 125.6 and mean is 128.

Degrdo 125.6 Hoat iew 128 vand eriuvo Jod?
(2) 120.8

(1) 120

(3) 125

7./5, 20, 19 and n

(4) None of these

(4) b5

(4) 128

The median of the marks scored by 100 students in a 25 marks Unit test is

& 800 derod Ddgrdo Jod?

Martks 0-5|5-10]10-15[15-20 | 20-25
(Srdhyew)
No. of students 10 18 42 13 7
(aa-ggw popg)
(1) 12 (2) 12.3 (3) 12,6

(4) 12.7

In hundred numbers 20 arc fours, 40 are fives, 30 are sixes remaining are tens then

arithmatic mean 1s

20 arenen, 40 adew, 30 whew 10 dde &én Jod?
(2) 5.6

(1) 3.5

(3) 4.7

(4) 5.8

[f a coin is tossed 3 times. then the probability of getting at least one head is

28 D) Bt G N S0 2.8 &y Podro KarSgd

3
(1) 3

(2)

oo | wn

(3) 3

47
(_)8
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SECTION — 11 : PHYSICS (25788 #92w)

-

@4 lens that is used to rectify hypermetrophia

(1) Concave (2) Convex (3) Cylindrical (4) None

Erdd)a A FTFBODHLD AErAD Eerghn

(1) Htrsd (2) Howrss (3) &rdrsd (4) dbva

p%\’hcn light passes through the liquids the change of [requency of Scattered light i?

related to
(1) Raman efTect (2) Snell's law

(3) Total internal reflection (4) Nonc of these

508 |dave rboar |Potrdodidypdy, HFimin Jodd 7ol AnE) FHYIgAN Irhh ¥l)0
B33 202000050,

(1) oS [ersin (2) )& davidvdn

(3) ogrgrods Sovsdiins (4) 3 =P

63 /The relation between the speed of wave (v ), wavelength (),) and frequency () is-

64

S6orkddian (v ), 86orBdsin (), ) ooty Tapigan (n) © HSghe donodin

{
no_ v
(1) n=vA (2) A=wvn (3) )‘=; (4) )-=7"

Vv = ), 7]
If the minimum angle of deviation is 30° with a Prism of angle 60°. Find the refractive
index of the material of the Prism.

60° S'wo §9ns sHEAS* 638 DISod E'mo 307 wowd, 308 dorgsn Gngy Idosd
O30 Jod ?

(4)

-l

(H 2 2) f3 (3)

SPACE FOR ROUGH WORK / 24 228 famauocsAs 7.
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65 When objects of difTerent distances are seen W hich of l. el
Focal length of the eye lens (2) Object ({fstancervmure .of e, (
@lmngc distance from cye lens (4) The radii of cu : s
& |800 T8 20 oo .
g drored® do Shpod SrISIpd, o8 Honobod & ° -
. od S &r
(1) Soe8 s&8 rggoddian ~ (2) Hobl gD -
i o0
(3) Zoel g8 Hod H3Dow drd'.':y (4) o83 g8 8o TEVQ
66 ‘The focal length of eyc lens ch_a'ngcs between these valucs.
cm
(1) 227 ecm to 2.5 cm (2) 227 em 10 5
(3) 2.5 cm to 25 cm - (4) 2.5 cm to SQ cm .
J.

Soe¥ Eb5Hn Ag) TPgoddan & 808 Devde g Arcd.
o (2) 2.27 wo.. 208 5 0.0

(1) 2.27 20.5. 208 2.5 2o.b. 0 >
| (3) 2.5 0.2, o8 25 20.hn. - (4) 2.5 210.5. 208 50 0.2

j i [ oncave Mirror is
The minimum distance from a real object to the real image in a €

6

equal to ' e

ersd SE)RAND ABEArAODIEPE M SHPD, Je B Doardd o 8% drd‘.:n _

(1) 2F @ F & 3) 0 @) F2

O
| iew" mi in vehicles is
> mi sed as "Rearview' mirror in ve
= (l.‘mm):/: onvg (3) Plane (4) None of these
onca
. : : & SR~ R
oS BB Grg DIEE T ADATAOD EEY .
IS 5
(1) Hers=6 (2) Hozrsd (3) dhde (4)
o ] ical mirror is
dius of curvature of a spherica
\lation between focal length and ra

6L( The relation be ? o "

s 86" 0B s, HEB TG Y %020

\O _
m r=% @ f=2R (®) R=f @) R=3f

SPACE FOR ROUGH WORK / 2& 228 Beranosudd P
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' 'v’OA hich of the following is the formula for magnification of spherical mirror 7

’ ’ h, h
| Y ¥ LA hy
(ﬂ) " (b) u (C) ho (d) hl'
(1) aand b (2) band ¢ (3) cand d (4) d and a
Resd ddymrodt u834) ArDoWwHD
(n) e (b) = (c) T (d)' I
(1) a &Batw b (2) b &saw ¢ (3) ¢ oty d (4) d 2ot a

7Y Il a convex lens is placed in water, its focal length is

(1) increases (2) decreases (3) no change (4) None of these

e8 Howrsd SLsing M dodd ond regossin

(1) orbdion (2) sroeon (3) ards (4) doscy

\73./ Unit of power of a lens

, (1) cm (2) m (3) dioptre (4) None
g8 Do A0 (Edrmin
(1) 0. (2) D (3) datgh (4) DA sa

7_1\/4;' lens which can form real and virtual images is -

(1) Convex (2) Concave '
(3) Both Convex and Concave (4) None of these /
M Lo ey (HADowANOD DB 6 BLSH =~ S
(1) Bozgrss (2) Htrss

(3) Lorss Hoaty Hersd (4) W s .
chllegedunlag

teem s smw— wwemesn wu sas ilsvry wRCrraTall I = & cmanm XK. . ®m .



75 :.lvhat is the lens makers formula ?

76

77

(\)'Vh:: is the msitioq of the image if the object is placed beyond the c¢
N he principal axis of convex lens ?

(1) at F
(3) between C and F

foyrse
6 053 g 07D BN Yo losinid edo SVYD doDR

) Fsg
(3) C woaw F 0wy

et v

848 Satrd ordd drdan JeR

) -}-=(u+l)(%l—

) I
‘@) 7=(u+l)(-,:—l+

surfaces of radii R,

1)

R,
_l_\
Ry |

(2) at C
(4) at infinity

(2) C 3
(4) wiod drdod’

o pofid

1 1
ool

ntre of curvature

©9Dow T

What is the focal length of a double concave lens kept in air with two spherical
=30 cm, R, =60 cm and refractive index of glass is 7= 1.57

iboss mmsay 1.5 o o8 Yred sLEw DS dospdss. shsiy g Yo pdrive

“‘(e, =30 0.8, Ry =60 %o.D. sawd 88
(2) - 40 cm

@)

\o

CWhen two ends of a cond

inside conductor ?

(1) Electrons move randomly

(3) Non-uniform electric field creates
g Gy, Both DbOD ergd 30
(1) dogrywen (ELErS Sodod® dotran
(r3) Wb bgh G 26 dé0d

Argigoddin Jod

(3) 50 cm

(2) Electrons come to rest

(4) Uniform clectric field creates
5538 DLy, g0 S'on O edirhdod.

(2) dogRer Mo 288 Syav

(4) 583 digh Fsan ddyddd

("

S

¢t ma son Ri__.._

(4) =50 cm

uctor are connected to terminals of battery, what happens

‘\
o™ o

“m /
7 o S
'/ &

S

WA 4

FN S 1
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78 Two metallic wires 'A' and ‘B are having same cross-sectional arcas and same current
\ . - ¢ ' g \
\ passes through them. fnd ratio of drifl velocity of electrons in wire ‘A" and ‘A,

[electron density of wire 4 =8.0x 1028m-3 and
clectron density of wire B=9.0x108m=3]
Bodhs S'irdy Brien 'A' Hbat ‘B’ © Auwd)d Drerges AN D

SygBen siridn. 'A' Soat B Bos'd dogSe eidsd 339 08,

paty ¢ Moo (Birod

[4' 866 dogys o Fodd 8.0X 1028m=3 Hoat

'B' 66" dosyS © roldd 9.0 X 1028m-3]
(1) 89 (2) 9/8 (3) 16/27 (4) 27/16

79 Which of the following relation is correct regarding potential difference (V) ?
SBHS #dan (V) 8 dowodod, o 8od mm 20 wandd.

mv=F/ v=Foyf- (3) V=l @ V=Y

80 Which of the following materials has high"value of specific resistance ?

(1) Copper (2) Silicon (3) Glass (4) Iron

& (800 D Sorgin b D I'GE Denish SBA dotwod.

(1) on (2) 208 (3) e (4) aoEn
®)

81 Three conductors having resistance values 2 ohm, 3 ohm and 4 ohm are connected in

parallel. Find equivalent resistance. \C

\

13 12
(1) 20 ohm (2) 9 ohm (3) -l_"- ohm (4) _I? ohm
Ard) >PEY oo dwdew 2 4D, 3 LD Doam 4 LD ob SArodsaum Sobd 304
B EED Dod?
. < 13 12
(1) 20 L5 (2) 95 (3) T (A (4) IEl LS

:
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82 By using KirchofT loop law find the value of 'x' in given circuit.

83

84

85

Bom)® ard Ar@ssn 4580A0D, 30)d Seaning® X' DS g R0d.
\6
| 15V
|
| 1
VWV i=34
>
2 ohm x ohm
(4) 4 ohm (&%)

(1) 2 ohm (L%) (2) 3 ohm (L5) (3) 5 ohm (L5

The power delivered by a battery of emf 20 V is 40 . Then the current delivered by
the battery is

(1) 0.5 ampere (2) 2 ampere
20 &¢§ dbgaryos woiw o o8 u‘s&b %08 Dewdd ﬁ'&ggm 40

(3) 60 ampere (4) R0OO ampere

=45, wand u'geab Hot

53y Debog§ (ardriw Jod?
(1) 0.5 eoanb (2) 2 wobanb

(3) 60 wobonb (4) 800 eotatb

Hz.

The frequency of dircct current is
6.

D8 Sow: gD Gy TrRRHIFE
@ (3) 60 (4) 100

(2) 50

In an AC generator direction of current changes because of
(1) external magnet (2) carbon brushes
(3) slip rings (4) all the above

AC esB0B &° dbsgB (i O3 Brd)aas S EEaw

(2) s RAw

(1) erig wahdryodin
(3) 25 dorben (4) 230
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/1B

-—

ing conductor inside a magnetic field is F= 78

[f force acting on current carry
ctor and magnetic field intensity direction.

go

Find the angle between plane of condu
1B
ooty 08 Esin & dodd dgh BErWI) sadhsnD 80 Bh woln F =7 s

Sotuit, ©abdy 08 §8 64D ey Eein 2087 .
(1) 90° (2) 60° (3) 45%

(4) 30°

’

P : The magnetic field lines always start from north pole.

Q : The magnetic ficld lines arc open loops.
(2) P is false, Q is true

(1) P is true, Q is fase
(3) P and Q are false (4) P and Q are true
P : watdryod nedpen duiypd a8d (@i Hod Wde BHeron. |

Q : wanvF) 08 pudpen BODH dualred. G
(1) P dedw, Q 85y
(3) P @oam Q &3y

87

88 /N
20t

—

r\.ﬂq

;-\ g.\

: e’
= = : 2 UN - A N X
- , —— o' s /

6 8 12

—___time((in sec)
en induc;'d emf (¢) and time (1). During which tin

The graph shows rclation betwe
d electromolive force ?

period there is no change in induce

(1) 6to 12 (2) 2106 (3) 010 6 (4) 6108

L2008 Dgor s BOR ((b) ooy sPoR (l ) ey ‘éa'qma‘a)_ [ &rDob. 2 5o bl
1208 dbgoryol podw & Srd)Om. t

(1) 6 &od 12 (2) 2 %08 6 (3) 0 208 6 (4) 6 %od &

SIPACE FOR ROUGH WORK / 9& 308 Seravodads Qcollegeduniag
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SECTION = 111 : CHEMIS1IRY (OFrade m s \ ' /

.,D/\\'hich of the following equations is not balanced 7 ”
" |Bob 63atd Mhgdninead &g Banan?

S (1) C+05 = CO, (2) 2AeCl— 2Ae+Cly

(3) CaCOy — CaO+CO, () N3 +02 = NO

q/ ﬂwl\'ulumc occupied by one gram of hydrogen gas al STP is

~/ (224 liers  (2) 5.6 liters @l 2% (4 433 0ens
STP 38 a8 ran TE'eS ok e$hod HABLre0
(1) 224 b, (2) 56 b (3) 112 b ()

Which of the following metals liberates hydrogen gas when reacted with dil. 11C1 7
[Bob es* fme 11C] 8 Sdg ebtisoypd, TS sakiy oo 3% &'dro D07

(13 e (2) 7n (3) Cu (4) Au
94/ The colour of phenolphthalein indicator in NaOll solution is 4
« () pink (2) yellow (3) brown (4) red

NuOll |ovdmod* LrpdS ardd dorb
(1) Herd (2) a0 (3) Arcod (4) by

‘é/ What is the chemical formula of hydronium ion ?
(& daso votrd Gog) 6ande Fosdso Ja?

, () nt (2) on+ (3) OH- M7 Hy0*

96 The naturc of non-mefalyc oxides is gencrally

(1) basic / t'(l’.) acidic (3) amphoteric (4) neutral
>orbuorr wd'd u3)F® Mo ?

(1) =6 (2) o (3) ogigersamd  (4) dado
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" 107 ‘The number of bond pairs and lone pairs of electrons in Hy

103 In a given shell, the orbital which has more penetration pox;cr towards the nucleus is

o o 856 4o wbyerdyE’ Bo850 DL Sy are Fbh b Bgerding) wdyerd ?

fo4 Which of the following represents the correct order of electronegativity among halogens 7

Bod 838" S e Augy WOGLD nueddgord 88 (S 20 7

(1) F>Br>Cl>1 (2) 1>Br>CI>F (3) EF>Cl>Br>1 (4) CI>F>Br>1

10/ The element having highest electroncgativity is
N

(1) Oxygen (27 Fluorine (3) Chlorine (4) Helium
. w8ghs LRdhH 888 fo rodiy
(1) w8yed (2) g6S (3) g0S (4) Bavo

106 In which of the following molccule, the bond angle is 1070 48 ?

& (Bod i3t 1070 48'0 wodS'oo do ey

(1) CH, @

NI, (3) H0 (4) Bly

O molecule are

H,0 ey &' ol JuFYR EOLED Doty Lobd doFyn 2o Howg

(n 2,1 (2)

108 | nanomcler is equd
(1) 1078 mewee [ (2
: | s Do 328 Sdraiw

(1 1078 . (2)

1, 2 ’@2. 2 41,3

10~? metre (3) 102 metre (4) 10~'8 metre

10~ . 3) 1072 & (4) 10718 &,
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,“9 o 23 .
I NH, the bond angle is deviated from normal bond angle 109°28 15 due 1,
(1) Bond pair repulsion (2) Lone pair repulsion

) Lone Pair-bond pair repulsion (4) All the above

NH; 6 2500 odteo news 109028 gy Sy Aot Ao SEER
(1) mﬁ_m Jddmen (2) robd mote Q50
(3) 208 20t)r008 wos ¢ (@) panem

1 i . ;
10 Which of the following is cleciron deficient molecule ?
€1 1508 oetst Ha JomeS 8 ey

111 Which of the follow; & is not an oxide ore ?

(1) Bauxite @Zincilc = (3) Pyrolusite (4) Cinnabar

8 Bod >3 43\5 oy 50 E: '

(1) 3y (2) doBes T (3) oS (4) 508
112 The correct order of reactivity of metals.

S'Pave g Batr fos dom B Euiy.

(1) Na>Zn>Au>Cu (2) Zn>Na>Au>Cu

(3) Na>Zn>Cu>Au = (4) Au>Cu>Na>Zn

113 In clectrolytic relining of melals, lhe'pure metal is taken as

(1) anode /@cathodc : - (3) clectrolyte (4) vessel
Degh Tidg O gl SO ((8ans’ 1Y 'rod A BvLotrd,

(1) us'6 (2) =& (3) &'rosomw (4) 8

The concept of hybridisation was introduced by
(1) Linus Skeling (2) Linus Pauling  (3) Berzelius

208b85man o i DS 5
(2) BaSrOof _ (3) BYDanS (4) &rBy oS

(4) Max Planck

(1) 245 *p00h
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l(g/fhc distance between two adjacent layers in Graphite

116

117

118

119

120

Bodh (3¢S rdo by drdo
\ LTV A 1) 36A
() 3A Y 3.35A “0(3) 4A (4) 3.

Which of the following is saturated hydrocarbon ?

& |Bod a6t 08y 8's )R )
(1) CaHg (2) Cyl, (3) CaHy (4) C4Hg

The functional group in aldehyde is -
uDT5 & dod [Ehas siriro :

(1) -OH @cuo ) (3) -COOH  (4) ~COOR

The TUPAC name of Cli3=Cll>=CiI=CII; is

(1) But-3-ene (2) But-l-ene (3) Butyne (4) Butane
CH3-CH; —-CH=CH> aws lUPA(E oA

(1) args3-865  (2) wrgtS1-&5 - . (3) wrgBS (4) argdS

The formula of chloroform is

§erD rayer ' =

(1) CH;CI (2) CH,Cl @ CHCl; (4) CCly

Volume of oxygen required at STP f'or complelc combustion of ~yole of ethane.
(1) 39.2 litres (2) 784 litres ) (3) 156.8 litres (4) ,22.4 litres

ed ArS &HBS O dso Babardd emda)a'bs ©8yel H¥Viresy, STP 58

‘e

(1) 392 begy (2) 78.4 bog =+ (3) 156.8 bk (4) 224 be.m
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